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Note: (a)All questions are compulsory.

(b)Marks are indicated against each question in square brackets.

solving“problems

QL. Discuss the significance and uses of classifying costs into fixed, uuﬁgblc and semi variable.

CO2[3]

%

- Q2. Discuss the importance of management ccountlng nd. d:fferenuate its scope of activities

from cost and financial accounting.

COL1[3]

Q3. Calculate a) contribution b) P/V ratio c) B akeven point in units and rupees d) What will be
the selhng,pnce per unit if the breakeve mt"ls brought*rjnwn to 25,000 units?

lecd expenses: Rs. 1,50,000; Varlable cost pcr unit: Rs.10; Selling Price per unit: Rs. 15
b COS[4]

Q4. A company manufactures 3 products A, B and C. There are no common processes and the
sale of one product does 1ot affect prices or volume of sales of any other.

The cost a_ud révgnue-dctalls are given below:

. Total (Rs.) A (Rs.) B (Rs.) C (Rs.)
Sales 3,00,000 45,000 2,25,000 30,000
Productlon cost
Fixed: - 60,000 3,000 48,000 -1 9,000
Variable i 1,80,000 24,000 1,44,000 12,000
Production overhead cost 2,40,000 27,000 1,92.000 21,000
Selling and Administrative cost:

Variable: 24,000 8,100 8,100 7,800
Fixed: 6,000 2,100 1,800 2,100
Total Cpst(Production & Selling 2,70,000 37,200 2,01,900 30,900
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together) .

Profit ' ' ; 30,000 7,800 23,100 -900

On the basis of the above the Board had almost decided to eliminate product C, on which a loss
-was budgeted. What are the cost and profit implications of eliminating product C? Can this
decision be supported on the basis of marginal costing? Show the detailed: calculations. 2

Page 2 of 2




